
SP-I/ECO/101/C-1A/19

B.Sc. 1st Semester (Programme) Examination, 2019-20

ECONOMICS

Course ID : 11618 Course Code : SP/ECO/101/C-1A

Course Title: Microeconomics-I

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions: 2×5=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is Production Function?

Î¬◊»¬Û±Ú ’À¬Ûé¬fl¬ fl¬œ∑

(b) What are the fundamental questions of economics?

’Ô«ÚœøÓ¬ı˛ Œ˜Ãø˘fl¬ √õ∂ùü&ø˘ fl¬œ fl¬œ∑

(c) Define inferior goods.

øÚfl‘¬©Ü ^Àı…ı˛ ¸—:± ±›/

(d) Distinguish between cordinal and ordinal utility.

Cordinal and ordinal Î¬◊¬ÛÀ˚±ø·Ó¬±ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬Àı˛±/

(e) What do you mean by expansion path?

ı‘øX¬ı˛ ¬ÛÔ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(f) What do you mean by utility?

¬Î¬◊¬ÛÀ˚±ø·Ó¬± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(g) What do you mean by budget line?

ı±ÀÊÈ¬ Œı˛‡± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(h) Write the formula of price elasticity of demand.

‰¬±ø˝±ı˛ ±˜·Ó¬ ø¶öøÓ¬¶ö±¬Ûfl¬Ó¬±ı˛ ¸”SøÈ¬ Œ˘À‡±/
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2. Answer any four of the following questions: 5×4=20

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What do you understand by supply? Discuss the determinants of supply. 1+4=5

Œ˚±·±Ú ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ Œ˚±·±Ú øÚÒ«±ı˛Ìfl¬±ı˛œ Î¬◊¬Û±±Ú&ø˘ ¸•Û«Àfl¬ ’±À˘±‰¬Ú± fl¬Àı˛±/

(b) Define total product curve of an input. Discuss the different stages of production in terms

of single input. 1+4=5

¤fl¬øÈ¬ Î¬◊¬Û±±ÀÚı˛ Œ˜±È¬ Î¬◊»¬Û±Ú Œı˛‡±ı˛ ¸—:± ±›/ ¤fl¬øÈ¬ Î¬◊¬Û±±ÀÚı˛ ¸±À¬ÛÀé¬ Î¬◊»¬Û±ÀÚı˛ øıøˆ¬iß ô¶∏ı˛
¸•Û«Àfl¬ ’±À˘±‰¬Ú± fl¬Àı˛±/

(c) Define indifference curve. Discuss the properties of indifference curve. 1+4=5

øÚı˛À¬Ûé¬Ó¬± Œı˛‡±ı˛ ¸—:± ±›/ øÚı˛À¬Ûé¬Ó¬±Àı˛‡±ı˛ Δıø˙©Ü…&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

(d) Define income consumption curve. Derive the shape of income consumption curve in case

of Giffen goods and normal goods. 1+4=5

’±˚˛ Œˆ¬±· Œı˛‡±ı˛ ¸—:± ±›/ ø·ÀÙ¬Ú ^ı… › ¶§±ˆ¬±øıfl¬ ^Àı…ı˛ Œé¬ÀS ¤ı˛ ’±fl‘¬øÓ¬ øÚÌ«˚˛ fl¬Àı˛±/

(e) Define marginal revenue (MR). Establish the relation among AR, MR and Price Elasticity

of demand. 1+4=5

MR-¤ı˛ ¸—:± ±›/ AR, MR ¤ı— ‰¬±ø˝±ı˛ ±˜·Ó¬ ø¶öøÓ¬¶ö±¬Ûfl¬Ó¬±ı˛ ˜ÀÒ… ¸•Û«fl¬ √õ∂øÓ¬á¬± fl¬Àı˛±/

(f) What do you mean by monopolistic competition? Briefly discuss the features of monopoly

market. 1+4=5

¤fl¬À‰¬øÈ¬˚˛± ”̃̆ fl¬ √õ∂øÓ¬À˚±ø·Ó¬± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ ¤fl¬À‰¬øÈ¬˚˛± ı±Ê±Àı˛ı˛ Δıø˙©Ü…&ø˘ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/

3. Answer any one of the following questions: 10×1=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is demand? State the ‘law of demand’ and illustrate it with the help of demand

schedule and demand curve. 2+2+6=10

‰¬±ø˝± fl¬±Àfl¬ ıÀ˘∑ ‰¬±ø˝±ı˛ ¸”SøÈ¬ ı…±‡…± fl¬Àı˛± ¤ı— ‰¬±ø˝± Ó¬±ø˘fl¬± › ‰¬±ø˝± Œı˛‡±ı˛ ˜±Ò…À˜ ‰¬±ø˝±ı˛ ¸”SøÈ¬
øıô¶∏±øı˛Ó¬ˆ¬±Àı ’±À˘±‰¬Ú± fl¬Àı˛±/

(b) What is marginal utility? Graphically derive the equilibrium of the consumer with the help

of budget line and indifference curve. 2+8=10

√õ∂±øôL√fl¬ Î¬◊¬ÛÀ˚±ø·Ó¬± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ ı±ÀÊÈ¬ Œı˛‡± › øÚı˛À¬Ûé¬ Œı˛‡±ı˛ ̧ ±˝±À˚… ŒSêÓ¬±ı˛ ̂ ¬±ı˛¸±À˜…ı˛ ’ı¶ö±øÈ¬
Œ‡±›/
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